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CS 355 - Computer Organization and Architecture |l
Practice Questions

No answerswill beprovided.

Question 1

¢ Thebinarynumber€0000,0001,0010,..., 1001representshedigits from 0 to 9. Constructa
circuit usingelementangateshatcanshowv thebinaryin a“numeric” figureasshown in the
following figure:
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e Constructa circuit with 2 n inputs(representingwo n bit unsignechumbers)andn outputs
wherethe outputis equalto thelarger of thetwo inputnumbers.

Question 2.

Constructhefollowing finite stateautomatorusingelementarygatesandD-flip flops:
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Question 3.

Shaw the circuit thatis usedswitch the valuesof thesetwo 8-bit registersto the inputs of the
ALU:
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Question 4.

Write a micro-programthat multipliesthe valuesin the registerR0O andR1 andstoretheresult
in R2. UseR15asscratchregisterandthe factthatregisterR5 containsthe constan®.

Hint: userepeatadditionto multiply.
Question 5.

Shawv thetiming diagramfrom a write operationon a synchronou$us.



